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. The eipression “right up” in line 8 could 8.

best be replaced by

(A) turn to the right

(B) follow correct procedures
(C) travel upstream

(D) all the way up-

. The passage implies that tourists prefer to 9.

(A) visit Niagara Falls during warmer
weather

(B) see the falls from a great distance

(C) take aride over the falls

(D) come to Niagara Falls for a winter
vacation

10.
. According to the passage, why was Niagara

Park created?

(A) To encourage tourists to visit Niagara
Falls

(B) To show off the natural beauty of
Niagara Falls

(C) To protect the area around Niagara
Falls

(D) To force Canada to open Queen
Victoria Park

COMPLETE TEST TWO
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The word “jurisdiction” in line 17 is closest
in meaning to

(A) view

(B) assistance
(C) taxation
(D) control

The word “pristine” in line 18 is closest in
meaning to

(A) pure and natural
(B) highly developed
(C) well-regulated
(D) overused

The paragraph following the passage most
probably discusses

(A) additional ways to observe the falls

(B) steps take by government agencies to
protect the falls

(C) a detailed description of the division
of the falls between the United
States and Canada

(D) further problems that are destroying
the area around the falls

GO ON TO THE NEXT PAGE




